=R

the 193} o] vt ghefish= e} )
S Afol 2] A7} 21 m o], HiofA] %M

Soho] Hel7|5 et 2 2] 2717} Talme
15° ol gieh, See] Eolt?

A

@ tanl5°m @21tan15°m @ sinl5°m

@ 21sinl5°m ® coslh°m

tan15° = % O|B 2 x =21 tan 15°m ©|T}.




2.

th2 1387 22 AABC 9|4 &) h & F513A?

A

v\

- Hogp -

® 10(v2-1) @)10(V3-1) ® 10(V3- 2)
@10(2\/5—1) @10(@-2)

B

2
h 0

~ fan (60° = 457) + tan (90° = 30°




® (3- V3)m @ (3v3-3)m
@ @V3+1m  G)EVI+3m

® (4V3-1)m

S =olE h 2 otH

/CBH = 45° 0|22 BH = &

(CAH = 30° 0|22

6+h:h=+vV3:1, V3h=6+h

(V3-1)h=6
6

S h=
V3-1

=3(V3+1)=3v3+3(m)




bz A Gld ok vjete 2

of th& 1wt ol A2
EE

Ak, o] YF7t 22 2]7] M 9] Fol& th3 4ZtH] 9]
“FotHA?
Zte sin cos tan
40 0.6428 | 0.7660 | 0.8391
50 0.7660 | 0.6428 | 1,1918
@D 6.428 m @ 7.660m @ 8.391m
@ 11.918m @14.088m

BC = 10sin50° = 10 x 0.7660 = 7.660( m)
AB = 10cos 50° = 10 x 0.6428 = 6.428(m)
whakA] 9] 1£0]= 7.660 + 6.428 = 14.088(m) ©]Tt.




o2 13 Zo] =g Hof tiste] 40° B
71 &013 vjgdo] St o] 4-& uet

200m 23tk A& YA 2 m =

OFREA] 5FH? (T sin40° = 0.6428,

cos40° = 0.7660, tan40° = 0.8391 )

AX40°

A C
® 153.2m @ 167.82m
® 152.3m @128.56m

BC = AB x sin40°
= 200 x 0.6428 = 128.56 m




8

AH = ‘/§+2
tan(90° — 45°) + tan(90° - 60°)
V3 +2

~ tan45° + tan30°
V342
V3

14 2=
+3

3(V3+2)

3+ V3
(V3+2)(3- V3)

B 2
34+ V3
2




o 2T 2ol 6km Bold F A B, C oM A Al A=
HY71E o 2 A7 247 60°, 45° & o, W7 74A] 9] =0

AH & st
mé!!!-%§c

@ 9- V2 (km) @ 9-2+2(km) ® 9- V3 (km)
@ 9-2v3 (km) @9—3\/5(km)

B

CH = AH = x 2}¥
BH=6-x

AH x
ﬁ:6—x
x= V3(6-x)
x=6v3- V3x

(1+ V3)x=6+3

6V3 (1- V3)
(1+ v3) (1- V3)

6v3 (1- V3)
-—
=-3V3(1- V3)
=9 - 33 (km)

- V3

tan 60° =




8. T T2 AABC 7t 9tk AB = A
20cm 22l & o, x o] do]=9
@® 8V3cm @ 9v3cm
@10 V3em @ 11vV3cm
® 12vV3cm

BC = 20cm©]1/CBD = 60°°| 2. &

V3

x =20 X sin60° = 20 X —= = 10 V3(cm)




@ (202 + 1.7)m @) 253+ 1.7)m
® (25V2+ 1.7)m @ (28V2+1.7)m
® (30V3 + 1.7)m

B ~

__ o h - h
S 1ol & = 5} = , = —
R 11 CH = hm 2 3} H tan 30° B tan 60°
of| A
- 1 1
AH_BH_h(tan3O°_tan60°>

1
50:h<\/_——)

V3

V3

" (®°])= (25 V3 + L.7)m




10. & AABC 9|A] =o0] h?

® 53

/BAH=30°°|E2 BH=AH =9
h = AH - sin 60°
V3

X5
_9v3
2

o ©




